== A
N & o & AF & H Al A
20178 & =04 LBHSI A AbSI = X 1t
SN ALSI S X
A FOHQI=K (MESX/HLHEN )
&S ZOHAAHS (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
A3l = X 2t 95,403,570 91,150,552 4,253,018
= 55,921,567
J| 677,309
< 10,632,692
Al 28,172,002
O SX (A SX/FHLAHSKH) 11,685,254 11,503,909 181,345
= 5,030,792
< 1,135,202
Al 5,519,260
ZOHAHS 11,685,254 11,503,909 181,345
= 5,030,792
= 1,135,202
Al 5,519,260
o= (0I=x) 410,000 405,011 4,989
= 287,000
Al 123,000
301 L2 A F 410,000 405,011 4,989
= 287,000
Al 123,000
01 MEIBEE 253 410,000 405,011 4,989
OJlx= EOH=+=<(890Y) 410,000
= 287,000
Al 123,000
ZH+E(HaS) 308,918 270,959 37,959
= 216,243
Al 92,675
301 4= 308,918 270,959 37,959
= 216,243
Al 92,675
01 MEI2EZE+06l= 308,918 270,959 37,959
O XH&t 2| & oH =2 (4909) 308,918
= 216,243
Al 92,675
Zo=g(12) 55,200 50,323 4,877
< 16,560
Al 38,640
301 L2 A F 55,200 50,323 4,877
< 16,560
Al 38,640
01 MEIBEE 2063 55,200 50,323 4,877
O1= Eoi+=<(230Y) 55,200
< 16,560
Al 38,640
HAsEe MEH R ZAH XI& 2,690 2,000 690
= 1,345
Al 1,345
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75,058
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= OlCHEHZ & E THE A HI 93,823 113,754 219,931
OZO0Hel o =2H(320¥) 93,823

= 75,068
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=

o=z 2,764,787 2,601,970 162,817
1,935,351
248,831
580,605

= N H

301 LEE A F 2,764,787 2,601,970 162,817
1,935,351
248,831
580,605

= N W

01 A28 X =0dl= 2,764,787 2,601,970 162,817
OzZofel A=2(1,2179) 2,764,787
1,935,351

248,831
580,605

= M W

LETHEAMHIA HISH K& 189,641 172,795 16,846
132,749
28,446
28,446

= M W

307 21201 A 189,641 172,795 16,846
132,749
28,446
28,446

= MW

(m]
N
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05 212t 189,641 172,795 16,846

OLEMEMHIA BIRH(87E) 189,641
132,749

28,446
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= W
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1,361
1,361

=z N H
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Akl = X1 ot
ZOHA =S X (A EX/HAHESXH)
ZOHAAS

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
307 glz2tol & 9,096 6,735 2,361
= 6,374
< 1,361
Al 1,361
05 RIZIRI & 3 9,096 , 735 2,361
OANLEXE HI2H(4Y) 9,096
= 6,374
= 1,361
Al 1,361
LM 2RYclaE X2 2,847 , 760 22,913
= 1,993
< 427
Al 427
307 21201 A 2,847 , 760 22,913
= 1,993
< 427
Al 427
05 RIZt2IEt = 2,847 , 760 A2,913
OZgIMe 2224 (3Y) 2,847
= 1,993
< 427
Al 427
SSASHEAHENZ 345 600 A\ 255
= 276
< 35
Al 34
307 21201 A 345 600 A 255
= 276
< 35
Al 34
11 ALS S XAEE = 345 600 A 255
Os3FA4dHEAHE(1Y) 345
= 276
< 35
Al 34
S3=H2 2SI 2,442 ,200 1,242
= 1,954
& 244
Al 244
307 glz2+ol & 2,442 ,200 1,242
= 1,954
= 244
Al 244
11T MISXASEX 2,442 ,200 1,242
O33&d0 &#=H|(2Y) 2,442
= 1,954
[ 244

w
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4,000
1,000

4,750

250

H

Al

5,000
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250

= N H
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1,446,013
185,916
433,804
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N 37,844

307 21201 A

= N
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1,446,013
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AN ALEI =X
HH: ZHA=SX (M SX/FHLASKH)

S HOHUAHS (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 600
01 MEIBZE 06z 1,200 600 600
OSEHLEZM 2HHAFHSHI(2Y) 1,200
< 600
Al 600
307 21201 A 5,000 4,000 1,000
< 2,500
Al 2,500
11T AL SXAIEE = 5,000 4,000 1,000
OWAEMS JIsssSus(1Ha) 5,000
< 2,500
Al 2,500
ZOHeIE ol X & 11,000 10,500 500
201 LB-2dH| 6,000 5,500 500
01 At 2t 2l 3,000 3,000 0
Oger =&l 3,000
— 0 BAUEMN 2 & JlE==EH] 3,000
02 =224l 3,000 2,500 500
OA&EHl Sl 3,000
— ST TNEE AMERA 2L 3,000
405 XtAHE SHI 5,000 5,000 0
01 AR ESFH S 5,000 5,000 0
QX HOME E=(14) 5,000
ORI Ktel 62,776 58,368 4,408
< 25,181
Al 37,595
307 glz2tol & 62,776 58,368 4,408
< 25,181
Al 37,595
05 RIZHRI & 3 62,776 58,368 4,408
OXEE 2L (BHUEE =L 8Y) 62,776
< 25,181
Al 37,595
ZOHAANFAIE 2EXA 1,157,753 1,086,373 71,380
= 810,427
< 104,198
Al 243,128
307 21201 A 1,157,753 1,086,373 71,380
= 810,427
< 104,198
Al 243,128
10 ALSISXAIEEE2GHEX 1,157,753 1,086,373 71,380
OFOML HFANE2IF (1) 1,157,753
= 810,427




AN ALEI =X
HH: ZHA=SX (M SX/FHLASKH)

Sl FOHOIN B (sl &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
< 104,198
Al 243,128
O =RIAIE 2,051,503 1,820,681 230,822
< 297,264
Al 1,754,239
307 glz2tol & 2,051,503 1,820,681 230,822
< 297,264
Al 1,754,239
10 M3 SXNANEHI2IHES 2,051,503 1,820,681 230,822
OXZOQ HATHEAIL2HHI (M) 856,269
< 23,832
Al 832,437
OXZOMQIMEO S XNJAME 22HI(10HL) 156,139
< 6,800
Al 149,339
O=stSdME 2GHI(1HL) 168,725
< 5,650
Al 163,075
OFUESAE 2LHI(2MH ) 196,773
< 40,000
Al 156,773
OAZEOfQ =22 S HE 298I (11 A) 100,635
< 40,000
Al 60,635
OZML SSMHEIY 2HHI(3MA) 150,000
< 6,000
Al 144,000
OXFOMA=SX AL SAX ==L (559) 143,000
< 71,500
Al 71,500
OXOHoIME AIEEXJA OF2tE(49) 7,300
< 3,650
Al 3,650
OFOMQABEAASE XML (1IHA) 52,000
< 15,600
Al 36,400
OSSHMAM Atell 22l (2¥) 80,662
< 28,232
Al 52,430
OSSO MEHME (10L) 140,000
< 56,000
Al 84,000
ZOHol M Eord 121,888 121,888 0
307 glz2+ol & 121,888 121,888 0
11 AISI S XA E X 121,888 121,888 0
OZOMQ NEA4HS 29 29,120
OZOIIIEX A dH 92,768
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SN ARSI S XD
FH: =S (MISX/HLHSXHA)
Hel: ZHAAHS (Sl & &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— NS XAl 100
- sk 282 400
OXt& & Bl 2,550
— &4l 2,000
— &l 500
— &1 & Atdl 50
202 44l 14,400 14,400 0
01 = LH 4 Hi 14,400 14,400 0
OAtsl =X gR=2 14,400
203 R =&t 4,000 4,000 0
03 AIMF=XH R =AY 4,000 4,000 0
OAtgl X2 2= 2,000
OAMEISXIAIE A23H 2,000
HZOHA=SXAIE LEOEE WA 37,143 0 37,143
2 26,000
Al 11,143
402 2I2H X201 M 37,143 0 37,143
= 26,000
Al 11,143
02 QI 2 AL EZ (01X TH ) 37,143 0 37,143
OFMA=SXAIE LEOEZHE WA 37,143
=2 26,000
Al 11,143
CosX (MBS /0 - Had) 53,947,022 52,150,571 1,796,451
2 40,162,027
J| 15,646
< 2,204,615
Al 11,564,734
LOo=ETANE &= 1,749,000 1,368,500 380,500
2 77,000
Al 1,672,000
2228 & ANEXA 1,595,000 1,368,500 226,500
201 Zer24] 133,000 265,000 A 132,000
01 At 2t 2l 132,500 261,500 A 129,000
Oy 48| 2,500
— 2 (YR L) A AN SSH=SE(3
M) 2,500
Oogxtz 130,000
—UUYd2,38 2L (HNESE3)
130,000,000& *1JH £ 130,000
02 =224l 500 3,500 A 3,000
03323 % HA 500
— 2. F2Y B22R= 500




SN ALSI S X
Ha: CQSK(AME=X /0 - BAE)
Sel To=TAE BB CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
203 YR =&l 2,000 1,000 1,000
03 Al F=XH R =AH| 2,000 1,000 1,000
OL Q=R Al#MFAH| 2,000
401 A& HIZ 2018 1,150,000 902,500 247,500
01 A& HI 1,148,000 901,000 247,000
OZzg(0tssla)AH e (5HA) 850,000
—U&1s Z2L(0s3&) U= 235,000
—QDIRL(OISD) MAS 205,000
~- DgFRY(OISHDT) WAS 205,000
—SNPEL(0ISD) HAS 205,000
OWLBEY 130,000
—Lh0I11.158 22Z B 130,000
oZzg(nrss@)24 138,000
Ozz(nss@)AI 24 30,000
U UgAE B Y t4 S AZES 30,000
03 Al 2 THHI 2,000 1,500 500
OZzg(0tsaa) g & 2= 2,000
402 RIZEX201 A 310,000 200,000 110,000
01 U2 EAILE X (XA ) 310,000 200,000 110,000
OZzg(oissa)E+ 310,000
ATHAO A X XIS X& 154,000 0 154,000
= 77,000
Al 77,000
401 AIEHI L 2CHEI 154,000 0 154,000
= 77,000
Al 77,000
01 A& Bl 154,000 0 154,000
OZ=2Y B &X 154,000
2 77,000
Al 77,000
LOI=XAIE 2l 3,022,588 2,797,879 224,709
2 470,505
< 344,455
Al 2,207,628
Z2E Wity ¥ 224 N & 814,017 804,417 9,600
2 203,505
= 305,257
Al 305,255
301 et d = 814,017 804,417 9,600
2 203,505
< 305,257
Al 305,255
01 MeI2EZE+06l= 814,017 804,417 9,600
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X ZH -
L= B

el

Akl = X1 ot

LO=EX(AEI SR/ 20 - HAH)
LS XAIE 2e|

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
01 Al&H| 462,000 20,000 442,000
OZ24HSEANAE SIEZ NE S 462,000
= 231,000
Al 231,000
404 SMNBSHII2EEZ2 187,200 0 187,200
01 SAt- SHU=2NES 187,200 0 187,200
OA&E 3238 187,200
SAHD AYX SotY oHX & 3,080 2,500 580
201 LBt A H| 3,080 2,500 580
01 AtR 22l b 3,080 2,500 580
Ogst=2H| 3,080
— 29D AISX Sotg orxlE 3,080
LOISXIAIAE LEDZYE WH 51,428 113,400 NB61,972
= 36,000
Al 15,428
402 QI2v X 20| & 51,428 113,400 NB61,972
= 36.000
Al 15,428
02 QIZEXI2 A EX(0IETHSH) 51,428 113,400 N61,972
OLQ=sXAAE LEDEY WX 51,428
= 36,000
Al 15,428
SOOI Mg X3 23 197,300 176,600 20,700
= 6,810
Al 190,490
L OICHAl R & 41,400 30,000 11,400
301 dBtE A= 18,200 8,000 10,200
09 AL HIBAZ 18,200 8,000 10,200
OEAHMSESUE L Loougs sALEA 18,200
307 QI2t01 & 23,200 22,000 1,200
03 AN EESAHE=X 23,200 22,000 1,200
OLQ3 Xz 29| 23,200
2Ry DRIy 25 25,600 16,000 9,600
201 et A | 25,600 16,000 9,600
01 At 22l ] 25,600 16,000 9,600
Ogbt=2H| 14,080
—AZRYELTZNER2Y SE1LY 14,080
o294 11,520
—AZYELTZ Y 29 2AAI=S 11,520
Lopns Zz)d XA 100,300 100,600 A 300
== 6,810
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Akl = X1 ot
LO=EX(AEI SR/ 20 - HAH)
Color ME N HE

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 93,490
301 et d =S 10,000 9,500 500
< 2,500
Al 7,500
01 MEIBEZE 05z 10,000 9,500 500
OF&sY DHA HP sl 10,000
< 2,500
Al 7,500
307 21201 A 90,300 91,100 A 800
< 4,310
Al 85,990
11T AR SXAIEE = 90,300 91,100 A 800
oroltisr 24 15,000
OZgY T8 &A2|A 27,000
OZdeg Tz 2 (tset=23l) 15,000
OZ=eY =3 3lH u=s 5,000
oauzd MsUal 3,500
OLQlolgyl = 6,400
< 2,560
Al 3,840
OWZE sts¢ 2,400
< 600
Al 1,800
ORI &8 16,000
< 1,150
Al 14,850
Lolol & JgE ™A 22,000 22,000 0
307 glz2+ol & 22,000 22,000 0
04 QIZFHALAIH E = 22,000 22,000 0
OLologdaiaAl & I8 Al 22,000
LAAHIIRAM 8,000 8,000 0
307 21201 A 8,000 8,000 0
04 QIZFHALAIH B = 8,000 8,000 0
OZAAH I 8,000
S4E HRY 2H 48,978,134 47,807,592 1,170,542
= 39,614,522
J| 15,646
< 1,853,350
Al 7,494,616
=3 42,660,394 41,710,336 950,058
= 38,394,355
< 853,208
Al 3,412,831
301 et a3z 42,660,394 41,709,216 951,178
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SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2

= 38,394,355
& 853,208
Al 3,412,831

01 Al B & A 46 2 42,660,394 41,709,216 951,178
OPIES L= 42,660,394
= 38,394,355
= 853,208
Al 3,412,831

LosEsllEa A A 811,546 575,919 235,627
= 546,242
& 70,231
Al 195,073

307 2I2t0| ™ 811,546 575,919 235,627
= 546,242
=} 70,231
Al 195,073

11 A EXAIEE X 811,546 575,919 235,627
OkLolsEJI2AM A 811,546
= 546,242
& 70,231
Al 195,073

LOosssSe A A 502,066 497,617 4,449
= 351,446
& 45,186
Al 105,434

307 2iz2to| A 502,066 497,617 4,449
= 351,446
= 45,186
Al 105,434

05 QIZ2tRE 2 502,066 497,617 4,449
OkossZs AUl A(HIRA) 502,066
= 351,446
o= 45,186
Al 105,434

S| JFAFA HI A 3,542 17,891 AN 14,349
= 2,479
& 319
Al 744

307 QI2t0| & 3,542 17,891 A 14,349
= 2,479
= 319
Al 744

05 QIZtREZ 3,542 17,891 A 14,349
OEAHLQ SIIIHAF 3,542
= 2,479
& 319
Al 744




2AM: A
X{ XH -
(=R B
el

SA-Z3H-SH2A(3AH) - A

01
o

0l &t o

=

M
2Hm
==
£l
Ol
0y

CA=SNAE+=2 T dAHS0 400,000 450,000 250,000
320,000
40,000
40,000

= N H

307 21201 & 400,000 450,000 250,000
320,000
40,000
40,000

= N H

ARSI S XA E X 400,000 450,000 A50,000
OLe=XAE ==X 400,000

320,000
40,000
40,000

0z
=
Ll
[=)

= N H

H

Hon
0z
il
o
0

235,942 198,225 37,717

< 107,590
Al 128,352

N
2
ne
s
Mo
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[

1,680 0 1,680

o
=

e
M 0
SR
1

e
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2% 70,000 43 560
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206 M= Hl 110,212 108,825 1,387
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Al 66,877
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01 M= dl 110,212 108,825 1,387

OSHLeletd X0l 102,712
41,085
Al 61,627
Oko 32X 7,500
2,250
Al 5,250

H

2l

301 gEtE A= 94,050 74,400 19,650

34,255
Al 59,795

n

2H6= 94,050 74,400 19,650
Ol otE A TH 60,000

= 18,000
Al 42,000
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9,300
2,500
2,500
19,650

13,755
Al 5,895
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M AR =X
HH: oS (AESX/ o - HAH)
el CRME OFY 25 CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
307 2Iztol ™ 15,000 0 15,000
< 15,000
05 RIZHRIE 3 15,000 0 15,000
Os20 28 =AHSANMA 15,000
< 15,000
402 2I2H X201 M 15,000 15,000 0
= 15,000
02 22t X2 AL E = (01X THE) 15,000 15,000 0
Ok SsdEINE 215 15,000
< 15,000
o ISXAE 2 1,600,000 1,592,220 7,780
< 160,000
Al 1,440,000
301 L2 A Z 1,600,000 1,592,220 7,780
< 160,000
Al 1,440,000
01 Al EE H =56l = 1,600,000 1,592,220 7,780
OMIt ZelEXAIE 22l 1,600,000
< 160,000
Al 1,440,000
LOo=RANE2Y 2,384,101 2,307,141 76,960
< 550,814
Al 1,833,287
301 LEtE A= 1,944,101 1,943, 141 960
S 330,814
Al 1,613,287
01 A3l EE E 56l 3 1,943,141 1,943, 141 0
OL=XA4d 2HH| 1,943,141
= 330,334
Al 1,612,807
MIEE43 960 0 960
OLo=XIAIE CIAXA0 54 (49) 960
< 480
Al 480
307 glz2tol & 440,000 364,000 76,000
< 220,000
Al 220,000
11 AISI S XA E = 440,000 364,000 76,000
OLQ=XANE BAX =& 440,000
< 220,000
Al 220,000
HASRES4 349,251 406,451 A57,200
< 18,179
Al 331,072
307 21201 A 349,251 406,451 A57,200




SN ALSI S X
Ha: CQSK(AME=X /0 - BAE)
Sl TIME AFNY RS CERED
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
< 18,179
Al 331,072
11 ASI S XA E X 349,251 406,451 A57,200
Of=2A AL (BEA=EX2) 113,505
— = .24 2, 7503 x260 x140H 100,100
< 18,179
Al 81,921
— 2gZ4 100, 100, 000 *5% 5,005
— X2l ARl 24 | 700,000& x12& «1H 8,400
OR234 FZAYOIZ=ND) 15,246
— = .84l 2,750 +48L «110YH 14,520
— 244 14,520, 0002 *5% 726
OR=2S4 AAE 220,500
— = .24 3,500 *300< x200H 210,000
— 2dHl 210,000,000 *5% 10,500
SEHLO SSHHLANEA 2GRN (HH S4lY| 4,196 6,144 A 1,948
SN2+ HE)
| 2,098
= 1,049
Al 1,049
307 glz2+ol & 4,196 6,144 AN 1,948
| 2,098
< 1,049
Al 1,049
11T AISI S XA E = 4,196 6,144 AN 1,948
OSHLo SSrALSAEA 2 (HH Sa
g 2 RAE+ HIE) 4,196
| 2,098
< 1,049
Al 1,049
SNL0 SSIHELEAMUIA 2ESXA (D2 2FHI) 6,984 9,216 N2,232
| 3,492
< 1,746
Al 1,746
307 glz2tol & 6,984 9,216 N2,232
| 3,492
< 1,746
Al 1,746
11 AISI S XA E X 6,984 9,216 N2,232
OSHEO STAAYMHA 220IB2Y
gl) 6,984
| 3,492
< 1,746
Al 1,746
SEHLO SIHFLSAHHA 2R (21AHH]) 20,112 20,592 A 480
| 10,056
< 5,028




SN ALSI S X
Ha: CQSK(AME=X /0 - BAE)
CHelr LR ME OFY DE CER-ED
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Al 5,028
307 2Iztol ™ 20,112 20,592 A 480
| 10,056
< 5,028
Al 5,028
11 AISI S AAISEE = 20,112 20,592 A 480
OSHLQ SSortdLMEIA 2 (e12d]) 20,112
J| 10,056
< 5,028
Al 5,028
HESX(AMI=EX/ES - HFLUHE) 2,346,038 1,787,626 558,412
= 668,806
| 490,669
< 263,350
Al 923,213
HeE=XEH 2,346,038 1,787,626 558,412
= 668,806
| 490,669
< 263,350
Al 923,213
Otsd ot XY Al 29 13,240 13,240 0
= 3,620
< 1,810
Al 7,810
307 21201 A 13,240 13,240 0
= 3,620
< 1,810
Al 7,810
11T MISRASEX 13,240 13,240 0
OOtsH4dAEX AN 29 13,240
= 3,620
S 1,810
Al 7,810
Otsetd XIS M XI& 2,440 2,448 A8
= 1,220
Al 1,220
307 gl2tol & 2,440 2,448 A8
= 1,220
Al 1,220
11 ALS S RAEE = 2,440 2,448 A8
OOotset™ X & M = 2,440
= 1,220
Al 1,220
SO0 .6HE8=Z 22 2 oY 14,500 14,800 A 300
< 1,800
Al 12,700
201 L2l 6,000 6,000 0




2N
X ZH -
L= B

el

Akl = X1 ot

HE=SX(MIEX/ES - Dt

M
e
2
0x

HE=SXEM

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2

01 At 22l 6,000 6,000 0
O e8| 2,000
—HEZEHEMY 222 AH 2,000
Oo2Z+¢ 4,000
—dEZ80Y ¥ du=s s 4,000

301 L2 A3 2,500 2,800 A 300

01 A3l EE H =56l = 500 800 A 300
Od . N =FOol A D& ™ s=Hl S 500

09 HALAHIEA S 2,000 2,000 0
O&=40e BHe & s 4 2,000

307 21201 A 6,000 6,000 0
< 1,800
Al 4,200

02 SIZtE S AIHE X 6,000 6,000 0
OHUHIH. L= 22 6,000
< 1,800
Al 4,200

dIIE dEgs 29 81,800 81,800 0
< 12,900
Al 68,900

307 glz2tol & 81,800 81,800 0
< 12,900
Al 68,900

10 M SXNANEHI2IHE=X 74,000 74,000 0
OHIt=AEA 2 (1) 74,000
< 9,000
Al 65,000

1A S XA E X 7,800 7,800 0
OAd SAX =< 7,800
< 3,900
Al 3,900

ChENEXNJHEH 29 39,400 26,400 13,000
< 15,300
Al 24,100

307 glz2tol & 39,400 26,400 13,000
< 15,300
Al 24,100

11 AISI S XA E = 39,400 26,400 13,000
OUSSIEXNAHE SALR=(9Y) 23,400
< 11,700
Al 11,700
OURSINEXNHEH AESHHE(2Y) 12,000
= 3,600
Al 8,400

_20_




AN ALEI =X

M GH=X(NSSN/2S - HEL0A)
el HdsSIEH
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e

OXO0tIt= Ol SCH2SHME (10 ) 4,000

CGEsis ¢2us AHlAXR 127,800 127,800
J| 89,460
< 11,502
Al 26,838

307 glz2tol & 127,800 127,800
J| 89,460
< 11,502
Al 26,838

11T MISRAASEX 127,800 127,800
OURAINEXNHAEH LSRR (1IHL) 127,800
J| 89,460
< 11,502
Al 26,838

Z2E0/28X S. HIMHA X2 17,232 17,232
J| 12,062
< 1,551
Al 3,619

307 gl2tol & 17,232 17,232
J| 12,062
< 1,551
Al 3,619

11T ALS S XAEE = 17,232 17,232
OZE0I2IX & -89 MEIA(Y) 17,232
J| 12,062
< 1,551
Al 3,619

ChE3E A ge X2 29,456 29,456
J| 20,619
< 2,651
Al 6,186

307 glz2+ol & 29,456 29,456
J| 20,619
= 2,651
Al 6,186

11T MISRASER 29,456 29,456
OLUEsIIE otsEAE AL (1Y) 29,456
J| 20,619
< 2,651
Al 6,186

Ch23ts 0180 D158 =4 16,636 16,643
J| 11,646
< 1,497
Al 3,493

307 21201 A 16,636 16,643
J| 11,646
< 1,497




AN ALEI =X

B 042X (NEZX/2] - HEU0A)
SR DL (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 3,493
11T MISXASEX 16,636 16,643 AT
OUZsIIE 0l8SHNIISs 83X 16,636
J| 11,646
< 1,497
Al 3,493
st=E0us 24 22,162 22,162 0
J| 15,514
< 1,994
Al 4,654
307 21201 A 22,162 22,162 0
J| 15,514
< 1,994
Al 4,654
11T MISXASEEX 22,162 22,162 0
Ost=0uE 2 (112) 22,162
J| 15,514
< 1,994
Al 4,654
SsE0UHsEHXZ 40,000 0 40,000
= 28,000
< 6,000
Al 6,000
307 glz2tol & 40,000 0 40,000
= 28,000
< 6,000
Al 6,000
11T M ZSXASEX 40,000 0 40,000
O3s=s0tLsH(Re2l0t017I8H) =4 40,000
= 28,000
= 6,000
Al 6,000
22018 2 U23tE NJHH 23 222,046 215,636 6,410
J| 111,023
< 33,307
Al 77,716
307 21201 A 222,046 215,636 6,410
J| 111,023
< 33,307
Al 77,716
05 RIZt2IEt = 222,046 215,636 6,410
OUSSIIFXNIALNH 22 (101 x) 222,046
J| 111,023
< 33,307
Al 77,716
2208 U285 N & 74,000 74,000 0
< 24,100

- 22 -




2N
X ZH -
L= B

el

Akl = X1 ot

HE=SX(MIEX/ES - Dt

HE=SXEM

=20y)

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2

Al 49,900

201 L2l 42,000 42,000 0
< 12,600
Al 29,400

01 At 2t 2l 42,000 42,000 0
ozg=¢ 42,000
—ZE0/0T FORIAA BEST(20Y) 42,000
< 12,600
Al 29,400

301 LEtE A= 7,000 7,000 0

01 A3l EE E 56l = 5,000 5,000 0
OMZE02UX JI&=xSHI(10H) 5,000

09 HALAHIEA S 2,000 2,000 0
OWAEZE0UR ABNEEA(10Y) 2,000

307 gl2tol & 25,000 25,000 0
= 11,500
Al 13,500

1 AMISIAIEE XS 25,000 25,000 0
OW&ZE0I0N HHUEH(100Y) 5,000
< 1,500
Al 3,500
OUI2IIEXNJAEEH SExAIH 20,000
< 10,000
Al 10,000

A20HE O2stE XNJHEH SEAEA 50,000 0 50,000
J| 50,000

307 21201 A 50,000 0 50,000
J| 50,000

11 AMSSIAIEE S 50,000 0 50,000
OAZIHE  UE3 XNHH S MHA 50,000
| 50,000

NAHSMSAAR S (CIOICHY AMATIE =HE) 400,000 0 400,000
= 320,000
= 24,000
Al 56,000

307 glz2tol & 400,000 0 400,000
= 320,000
< 24,000
Al 56,000

11 AISI S XA E = 400,000 0 400,000
OCIOICHA AU Rte| &= 400,000
= 320,000
< 24,000
Al 56,000

Ct23tot=E SotE =R 7,000 7,000 0

_23_




SN ALSI S X
M 8 =sX(A=EX/E] - I EL0HY)
SRR - (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 7,000 7,000 0
04 DI2HHALALSE E X 7,000 7,000 0
Oott&stit= stote S H (7009) 7,000
OtolE= XI& At 446,466 493,590 NAT 124
= 312,526
< 40,182
Al 93,758
307 glz2+ol & 446,466 493,590 NAT 124
= 312,526
< 40,182
Al 93,758
11T MISRASEX 446,466 493,590 ANAT 124
Ootol == 446,466
= 312,526
< 40,182
Al 93,758
OlSZ=SH XA (SHRL2IHE) 220,980 155,200 65,780
J| 176,784
< 22,098
Al 22,098
301 LB A Z 220,980 155,200 65,780
J| 176,784
< 22,098
Al 22,098
01 MI28E +06l= 220,980 155,200 65,780
Ost=R2IE IHH 2=l 220,980
J| 176,784
< 22,098
Al 22,098
FI oSS XA (SHREL2IHE) 763 1,800 A1,037
J| 611
< 76
Al 76
301 L2 A= 763 1,800 A1,037
J| 611
S 76
Al 76
01 MEI2EZE 406z 763 1,800 A 1,037
OetRL2IIE FI0ts 2=l 763
J| 611
< 76
Al 76
OtsuUSH(S2M s34 XA 3,688 13,000 A9,312
J| 2,950
= 369
Al 369

_24_




©OAEI = X
COHAEX(MEER/EE -0t
CHEsSAEH

M
e
2
0x

SN FH-SA(EN) - MBAY - BES

Off &t 24

301 €EtE &=

Jl

=M

3,688
2,950
369
369

Do
S
I
O
kJ
oin
Jor
0z
Jon
010
Ot
[=s

Hhn X

Al

3,688
3,688

2,950
369
369

S2DIE JUEDSH S X

H

Al

161,068

48,320
112,748

= M

161,068

48,320
112,748

n

Al

H

Al

H

Al

H

Al

H

Al

= M

161,068
12,068
3,620
8,448
12,000
3,600
8,400
3,000
900
2,100
120,000
36,000
84,000
2,000
600
1,400
12,000
3,600
8,400

= H W

1,437
1,150
86
201

= H W

1,437
1,150
86
201

01 AR 2&8H =62
EN

OF=

= H W

1,437

1,437
1,150
86
201
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SA: AEIEX D
HE: GH=X(MNESN/2S - HEL0Y)

SRRV PEE AR (sl &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
o & EHAl 62,400 62,400 0
< 2,200
Al 60,200
307 212t01 & 62,400 62,400 0
< 2,200
Al 60,200
02 DIZtZAAMEE X 30,000 30,000 0
OYHBHSF2t J| &AL 10,000
& 2,200
Al 7,800
OWEXNEA /23S 10,000
oo dotatdi ol 5,000
OWg&Eu= 5,000
04 DIZHSHAFAIRE 2 X 32,400 32,400 0
OLAA &3S FI|3AH 12,900
ORoHA & HIIEA 6,500
OYAUEN g2t MI134AH 6,500
OZ2=2230l0 3I159 6,500
Hegaeg 226,304 182,549 43,755
101 @121l 37,204 17,649 19,555
04 JI2ZtH 22 XNEE S 37,204 17,649 19,555
O4daa 34 ¢ T2 29 (2Y) 37,204
—-J|I=23 51,7603 x249! 2 H 25,777
— F=XE 51,760& x52 x2H 5,384
— X< 51,7603 x 12 x2H 1,243
— 2tAlH| 3,000& x249L x2H 1,494
— &&3 51,7603 *30 x2H 3,106
— Il =l 100,000& #2353 x1H 200
201 LEr2 Y| 189, 100 164,900 24,200
01 AFR 22l dl 136,900 113,700 23,200
Ogst2H| 16,500
—04d3 22T L MRESE S 15,000
—-=22= HM& S 1,500
osg9=s+4¢ 120,400
— 2AIE 35,0003 *83] #4314t = +102 120,400
02 352494l 52,200 51,200 1,000
O332=2 2 HA 28,000
&2 S 28,000
OH =l 1,200
— X2ld LPGItA S 100,000& *12& 1,200
OA&EHI R XH S 23,000
—AN&E222 ¥ HBIRX S 23,000
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2N
X ZH -
L= B

el

Akl = X1 ot
HE=X(AME=X/ES -
Hd=XEH

L)

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

Ot

rr

RN

= N H

4,580
2,290

687
1,603

307 21201 &

= N H

4,580
2,290

687
1,603

4,580

ARSI S XA E X

OOt R20S

= N H

4,580
4,580

2,290
687
1,603

4,580

O
Jt
P
=
[
I
P
HL
A0
o
M
He
X
0x

H

H

Al

24,
,903,840

204,879

17,639

,948,606
,334,794

23,388,541

816,338

H

= H

— O ~N O

.505,860
, 199,532

17,639

,097,673
, 191,016

5,594,578

N88,718

= MW

48,468
19,387
11,632
17,449

46,718

1,750

307 21201 A

= MW

48,468
19,387
11,632
17,449

46,718

1,750

= N H

48,468

48,468
19,387
11,632
17,449

46,718

1,750

= N H

44,900
29,470

2,740
12,690

46,700

A1,800

= mnH

44,900
29,470

2,740
12,690

46,700

21,800

20 x150,000& =123

44,900

36,000

46,700

1,800
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SN ALSI S X
M ols=sX(A=EX/E] - IIELHY)
e OISES Chel &)
SN HH-S(BN) - MBAY - B il HlnE2
= 25,200
Al 10,800
oAt E X (2F) 2% %2,700,000& 5,400
= 3,780
= 1,620
o=zt 2X(1¥) 700
2 490
Al 210
OgE=sa (1Y) 1,000
< 400
Al 600
OBHBAIOl A A0ots L+ (1H) 1,800
< 720
Al 1,080
OhS 2 & XI 2 I & 54,846 4,686
2 38,390
< 8,228
Al 8,228
301 et a3 54,846 4,686
= 38,390
< 8,228
Al 8,228
01 A3l EE E 56l = 54,846 4,686
OOtSZZNHA =E2(181Y) 54,846
= 38,390
< 8,228
Al 8,228
OIS EXAIE 4H S0 280,000 0
=2 224,000
< 28,000
Al 28,000
307 glz2+ol & 280,000 0
=2 224,000
< 28,000
Al 28,000
11 AISI S XA E X 280,000 0
OOs=XAE ==k dAHSA 280,000
=2 224,000
< 28,000
Al 28,000
XIS HE 22l X2 961,975 £35,021
= 480,987
< 240,494
Al 240,494
307 21201 A 961,975 A 35,021
= 480,987
= 240,494
Al 240,494
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2N
X ZH -
L= B

el

Akl = X1 ot
OtS=EX(AMEEX/ES - Dt
O}E‘:IO
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ONel0l=0lAE KXNES 20,000
HHA2ItE. 2EHE 0l &5HME 8,000 8,000 0
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Helole &AL 28,000 25,600 2,400
& 500
Al 27,500
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1MIIEBESS 1,000 1,000 0
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J| 1,000
Al 1,000
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